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Expand and simplify (\/E + \/ﬁ )2
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The area of rectangle A is the same as the area of
rectangle B.
Find the value of x. Give your answer in the form a/6

Show that simplifies to %
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Calculate the area of the square, give your answer in the form
a+b/3. All sides lengths are in metres.

Calculate the area of the triangle, give your answer as an
integer. All sides lengths are in metres.
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[ Alarge rectangle piece of card is /20 cm long and /8 cm wide.
A small rectangle /2 cm long and /5 cm wide is cut out of the
piece of card.

Express the area of the card that is left as a percentage of the
area of the large rectangle

Work out the mean of /50, /18 and /8.
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Give your answer in the form a/2.
Is this triangle right-angled?
Not to scale
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You must show your working.




